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11 | "R 2(1) 2(1)
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17 | STa—9wes 1(1) | 1(1) 4(1)* 2(2)
18 QSIIr'\‘I\ﬂ R \%Uﬁ ST 1.5(1) ]_.5(]_)
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Class:-12
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Rierfat & forg Amg fdwr —

GENERAL INSTRAUCTIONS TO THE EXAMINEES

1. TRIeeff Ay 31w wed uF WR AMid ifaria: ford |
Candidate must write frist his/ her Roll on the question paper compulsorily.
23941 g Irfart €|

All the questions are compulsory.

3. AP YT BT IR &l g IR YRAdT H 8 ford |

Write the answer to each question in the given answer Book only.

4. N9 ueHl # IR® oS €, I 9 & IR U A1 & ford |
For question having more than one part, the answers to those parts are to be written togeather in
continuity.

5 U U @ 2l 9 3Gl ®UR H fhdl UhR @1 e /R / R g R 2=
AT & Y99 Bl B Fel d |

If there is any error/difference/contradiction in Hindi & English versions of the question paper, the
question of Hindi versions should be treated valid.

6. U &1 IR for@d ¥ gd U &1 HHid 31aeg ford |

Write down the serial number of the question before attempting it.

7. T @7 36 MR TR 7

Weightage of Marks of the questions is as follows.

Hus—31 (A) 1 (i to ix)
2 (itoiv) 17 1 17
3 (itoiv)
Tus—9 (B) 4915 12 1% 18
Tus—4 (C) 16 | 18 3 9
Yus—3 (D) 19 ¥ 20 2 4 8
wus— (E) 21 9 22 2 2 4

8. U3 $hHiDb 21 I 22 AT B ¥ Gefdd & 3R b 2 3 &l 2 |

Question number 21 to 22 are related to Map work carrying 2 marks each.
9.Rd T4 favd & IUTT BRI T AT AFFE Bl ISTR—YRABT & A1 Tl N |

Attach the given outline maps of World and India with the answer-book.
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Section - A
1. IS U9
Multiple Choice Questions
(i) g freemare’ Haeudr fea ufaurfed &1 &7
@1 firfieer TeR @) Yeoret
(|) Yels 1. 99 (]) Ui faeTa—SI—al—<atrer

Who propounded the concept of ‘Neo determinism’?
(A) Griffith Taylor (B) Ratzel

(C) Ellen C. Semple (D) Paul Vidal de La Blache

(i) F=faRad # & - den SEwen & il oy o & gfafte et 7 ?

(31) 15 & 65 a9 @) 15 ¥ 66 a9

() 15 & 64 I9 () 15 9 59 a9

Which one of the following figures represents the working age group of the population?
(A) 15 to 65 years (B) 15 to 66 years

(C) 15 to 64 years (D) 15 to 59 years

(i) 7T faeT @) rquRoT = H | fhw fAgm dr T 8§ ?

(37) U1 M ¥ (@) Sf Heqg—I—8D
() Yo 1. A (g) Yeord

The concept of human development was introduced by which of the following scholar ?
(A) Prof. Amartya Sen (B) Dr. Mahbub-ul-Haq

(C) Ellen C. Semple (D) Ratzel

(iv) Fr=iforRaa # & ®I=aT T ol fhar—aery 2 2



Which one of the following is a tertiary activity?

(A) Farming (B) Weaving

(C) Trading (D) Hunting

(v) AT STerArt Rerd 28— 1
(@7) ®9 @) wRa

(w) SR (=) R

The Volga waterway is located at

(A) Russia (B) India

(C) America (D) Germany

(vi) 7T e ga@is § Rd & fFrefalad <t § 9 59 a6 @ e =Ead 8 2 1
(&) aferrg (@) weieTe

(%) dora (2) =famn

Which of the following states of India has the Lowest rank in the Human Development Index ?

(A) Tamil Nadu (B) Chhattisgarh

(C) Punjab (D) Haryana

(Vi) IR IIERT STet I P A @ g7 1
(1) 2002 @) 2022

(&) 2020 (€) 2023

When was the India's National Water Policy implemented ?

(A) 2002 (B) 2022
(€) 2020 (D) 2023
(Viii) ITSR@T ST G e <9 & \8ART | wRfuq fear way o ? 1

(a1) ST (@) PR



(\) 4 (@) wid
Rourkela Steel Plant was established with Cooperation of which country-
(A) Germany (B) America

(C) Russia (D) France

(ix) Sfa=T T TBR URAISTAT Bd RS g °

(a1) 1938 (@) 1948

() 1958 (€) 1968

When was the Indra Gandhi Canal Project started ?
(A) 1938 (B) 1948

(C) 1958 (D) 1968

2. R sl &1 gfid sifog

Fill in the blanks-

Population growth is expressed in ... .
() J— B B AN &5 B faewar 2|

............................... cultivation is a speciality of Mediterranean region .

(1) ——— forar amiroT aRaat @1 ge enfdie fmar 7|

............................... economic activities dominates in all rural settlements .

(iv) T IRT BT FAMTD TGRT oo g |
Yamuna is highly polluted............... in Indian .
3. JAfTTERIAD U

Very Short answer type questions-
(i) fr=i <1 sgseed 41 ol uRare=mRel & M failay |

Name any two multipurpose river valley projects .

(if) ATy UHYT & QT &I BRI DI § 7



What are the two main causes of Air pollution ?

(iii) ATTE BT ATHADBROT RIT & ?
What is the naturalisation of humans.
(iv) PreRgerST &7 & ?
What is Kalkhoz ?
oS ¢
SECTION B
THARIHAD JT—
Short answer type Questions
4. SET gfg | ST a7 e € 2

What do you understand by population growth.

5. AFG fIHTd & RV AEaIHAT IURTH DI FHRY |

Explain the Basic Needs Approach of Human Development.

6. A5k W $exIc Pl fATTcAD JeqdT HIFU |
Make an Analytical study of cyber space Internet.
7. AR HAH & <1 =T 9T 9argy |

Write two main objectives of composition of trade.
8. fguif¥a® ta 9 uif¥as R # R W HIRT |

Distinguish between bilateral trade and multi lateral trade.

9. UTHIUT JHfIT & ART Td 18T Ufaeul &7 X1 faF 99137 |

Draw sketch of Star and Double pattern of Rural Settlement.

10. w9g Heed wR femelt faRay |
Write a short note on Linguistic Composition
11. g9 & gafaRofig aRom 9arsy |

State the environmental consequences of migration .

1Y%

1Y%

1%

1%

1Y%

1Y

1Y



12. e WER R Jbr & = Gy 1fud ST | 1%
Established relationship between modern twon and dovelopment .

13. STR—gdl YR yawr wR fewoft forfey | 1%
Write a short note on Eastern Plateau Region

14. AT & YSS Yawll Bl W BT | 1%

Specify the hinterlands area of ports.

15. YRd # SUUE HAR UUITell BT AT S eqdT HIfTY | 14
Analyse the Satellite communication system in India .
gvs '

SECTION 'C'

16. 9RT H FHSUR AR & oy WReg |l 1 fdaamr HIforg | 3
Analyze the medical services of over sea's patients in India.

17. grIg—Yor 3ielfie Jee & g {1 Heful T Syl &1 Hiee wy § forfy | 3
Write the main activities and achievement of Mumbai & Pune industrial region.

18. fr=foiRad SreeR a3 R fewolt forfRau— 1% +1%=3
(i) xfe= (ii) cehfas

Write a note on the following mass communication systems.

(i) Radio (ii) Television
oS (3)
SECTION D
fra=are® 39 Essay type Question
19. favg ¥ Ng—sWId SN &I JaRAfY Td AT BT FH=SY | 2+2 =4

Explain the location and distribution of Iron & Steel Industry in the world.



3rerar / OR
PR TR ¥ Ied UEfra] IeNT Y FeTIRI & aRE &= § & i [Aefad 8l 2 87 a1 Sifo |

4

Why are high technology industries developing in most countries only in the peripheral areas
of major Metropolitan cities? Discuss.

20. MR # 9 FERAT @ I geR 31 wgiaReia TR sl 87 S99 ae &9 fhar sg? 4

What are the different types of environmental problems of land resources in India? How to
resolve them?

3frar / OR

IRA ¥ U R~ Bl IR o IRy | 4
Write an article on major food crops in India.
s (3)

SECTION E

21. Qv v fawg @& A=faE # I que SHE@T drel <30 &l Q28— Y2 x4 =2
(@7) wTfeh=ar (@) shefer (@) qivaree (q) soSHRmET
In the given outline map of the world mark the following densely populated countries—

(A) Pakistan (B) Sri Lanka (C) Bangladesh (D) Indonesia

22. Ry Y 9YRA & @1 AHRE § 7 Gl 99 SR Sl Bl g8 Vo x4 =2
(31) TanferaR (@) PTTYR (W) AR (]) WA
In the given outline map of India mark the following cotton textile centres—

(A) Gwalior (B) Kanpur (C) Mysore (D) Surat



